» FirstRanker.com

A Firstranker's choice

9/16/2020

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

www.FirstRanker.com

www.FirstRanker.com

National Testing Agency

Share Answer Key With Delivery Engine :

Actual Answer Key :

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Data Analysis For Social Science Tea
Data Analysis For Social Science Tea
2020-09-15 13:26:31

180

100

Yes

Yes

Yes

Data Analysis For Social Science Teachers

1
8995147

Data Analysis For Social Science Teachers

Section Id : 8995147
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
9/16/2020
Sub-Section Number : 1
Sub-Section Id : 8995147
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 899514516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The key assumption of the multivariate data analysis is:
(a) data should be random

(b) data should be normal

(c) data should be free from outliers

(d) not more than 10% missing cases

In multivariate analysis z-scores can be used for, other than its regular use:
(a) data standardisation

(b) outlier detection

(c) missing value treatment

(d) data imputation
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If Y= fiX), then what is true about Chronbach’s alpha?
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At 95% level of confidence and 0.5 as standard deviation, what sample size is
adequate for an empirical research?

(a) 384

(b) 768

(c) 1537

(d) Can’t be ascertained
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Single word substitution for “homogeneity of variance in Multiple Linear Regression” iS?
(a) homoscedasticity

(b) heteroscedasticity

(c) randomness

(d) multicollinearity

What would be the adjusted R-squared when R-squared is 90% comes with 100
observations and 5 independent variables:

Q)  99%
(b)  90%
) 85%
d)  80%
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Multicollinearity is a situation where:
(a)  independent variables have high correlations among themselves
(b)  independent variables are highly correlated with their residuals
(c)  independent variables are highly correlated with the dependent variable
(d)  independent and dependent variables are perfectly correlated

What relationship exists between Variance Inflation Factor and
tolerance (TOL) values of an independent variable in an Multiple

Linear Regression model?

(a)  they are directly proportional to each other

(b)  they are inversely proportional to each other

(c)  they are inversely proportional to each other and VIF*TOL = 1
(d)  no relationship exists between them
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Logistic regression model is applicable when:
(a)  both dependent and independent variables need to be scale variables
(b)  both dependent and independent variables need to be categorical
variables
(c)  dependent variable is categorical in nature while no bar for independent
variables
(d)  dependent variable has no bar while independent variables have to be
categorical

Which of the following distribution is relevant for logistic regression?
(a) binomial distribution
(b)  Bernoulli’s distribution
(c)  Poisson distribution
(d)  exponential distribution

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9/16/2020

Which of the following option is true?
A) Linear Regression errors values has to be normally distributed but in case of
Logistic Regression it is not the case
B) Logistic Regression errors values has to be normally distributed but in case
of Linear Regression it is not the case
C) Both Linear Regression and Logistic Regression error values have to be
normally distributed
D) Both Linear Regression and Logistic Regression error values have not to be
normally distributed

Recall in classification through logistic model is:
(a) TPATP + FP)

(b) TP/(TP + FN)

(c) TP/(TP + TN)

(d) (TP + TN)/( TP + FP + TN + FN)
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Which of the following forecasting methods addresses trend but not seasonality?
(a) Moving average

(b) Exponential smoothing

(c) Holt’s method

(d) ARIMA

What model basically used in the Winters’ method?
(a) (level + trend)*seasonality

(b) level + trend + seasonality

(c) level * trend * seasonality

(d) (level * trend)/seasonality

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9/16/2020

In case of ARIMA (p, d, q) which is normally true?
(a) ACF decides MA while PACF decides AR

(b) PACF decides MA while ACF decides AR

(c) PACF and ACF can decide only AR

(d) PACF and ACF can decide only MA

Which of the following statistics is used to test whether the autocorrelations are
significantly different from zero?

(a) Normalized BIC
(b) RMSE or MSE

(c) Ljung Box statistics
(d) AIC or BIC
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Which menu item in SPSS contains procedures to manipulate variables?

A. Graph menu

B. Data menu

C. Transform menu
D. Analyze menu

Which menu item in SPSS contains the split file and select cases command?

A. Graph menu

B. Data menu

C. Transform menu
D. Analyze menu
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Which of the following is used for entering and viewing data in SPSS?

A. Data view

B. Variable view
C. Output viewer
D. Data editor

In this tab in SPSS, rows represent variables and columns represent characteristics
of variables.

A. Data view

B. Variable view
C. Output viewer
D. Data editor
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In this tab in SPSS, rows represent individual cases and columns represent variables

in your data.
A Data view
B. Variable view

C. Output viewer
D. Data editor

A bag contains 3 red, 7 green and 2 blue balls. A ball is drawn at random. The
probability of the ball drawn is either red or blue is :

A 3/12
B. /12
. 5/12
D. 2/12
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If three coins are tossed simultaneously, then the probability of getting at least two
heads, is

1/4

3/8

1/2

1/8

o 0wy

In binomial distribution, formula of calculating standard deviation is

A. square root of p
B. square root of pq
C. square root of npq
D. square root of np
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Mean of binomial probability distribution is 160 and probability is 0.64 then number
of values of binomial distribution

A 250
B. 200
C. 150
D.100

If the outcomes of a discrete random variable follow a Poisson distribution, then
which of the following is true?
A The mean equals the variance.
The mean equals the standard deviation.

B
L. The median equals the mode.
D The median equals the standard deviation.
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Which of the following is not an example of a discrete probability distribution?
The sale price of a medicine
The number of bedrooms in a house
The number of bathrooms in a house
Number of children in a family

o0 wr

If the mean and the standard deviation of a continuous random variable that is
normally distributed are 20 and 5, respectively, find an interval that contains 68%

of the distribution.
A. (18,24)
B. (15,25)
C. (12,25)
D. (10,30)
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A competency test has scores with a mean of 80 and a standard deviation of 10.
A histogram of the data shows that the distribution is normal. Use the Empirical

Rule to find the percentage of scores between 60 and 100.

A 99.7%
B. 95%
C. 68%
D. 50%

In normal distribution, which of the following is true?
Mean = Median = Mode

Mean < Median < Mode

Mean> Median > Mode

Mean #Median #Mode

S oWy
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The coefficient of skewness of a normal distribution is:
A. Positive
B. Negative
C. Zero
D. Three

Which of the following statements regarding a researcher’s use of inferential

statistics is true?
A. A random sample provides a perfect estimate of the population values.

B. It is best to measure every member of a population if possible.
C. Descriptive statistics from a sample are used to estimate the characteristics

of the population.
D. Usually need to take several samples to obtain a good estimate of the

population values.
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If a researcher conducts a study in which the reading ability of a class of 20 second
graders is tested at the beginning and at the end of the year, the appropriate statistical

procedure to analyze the results would be

A. ANOVA
B. ANCOVA
C. Chi-square

D. The dependent samples t-test

The level of significance of a statistical test indicates:
A. How significant the difference between means is
B. The chance we are right in accepting the null hypothesis
C. The chance we are wrong in rejecting the null hypothesis
D. Whether to accept or reject the null hypothesis
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factor analysis is best suited when the number of factors to
extracted 1s known

1.  Exploratory
1.  Confirmatory
1iii.  Conditional

. 1only
ii only
111 only
1 &iii

analysis 1s a preferred alternative to Q factor Analysis

1. Multiple Discriminant
1.  Regression
ii.  Cluster

1 only
i1 only
111 only
1& 11

cCawp
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Question Number : 37 Question Id : 899514552 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The extent to which each of the variables contribute uniquely to a factor is known
as

A. R factor

B. Q factor

C. factor loading
D. factor structure

Which of the following tests examine whether the correlation matrix has significant
correlations among at-least a few of the variables?

A. ANOVA

B. Kaisen-Meyer Olkins (KMO)

C. Bartlett' test of sphericity (BTS)

D. MANCOVA
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Question Number : 39 Question Id : 899514554 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following tests examine sampling adequacy?
ANOVA

Kaisen-Meyer Olkins (KMO)

Bartlett' test of sphericity (BTS)

MANCOVA

cCawp

What do you report in a multiple regression to say whether your model was
significant or not?

A) ANOVA Results

B) Adjusted R squared

C) Chi-squared

D) Correlation Coefficient
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What test statistic is used for global test of significance of the regression model?

A) Z test
B) F test
C) T test
D) Chi-Square test

For set of the two variables, the Pearson’s correlation coefficient is computed to be
-0.93 means that

A) The relationship between two variables is strong and positive.
B) The relationship between two variables is weak.

C) The relationship between two variables is strong but negative.
D) The Pearson’s coefficient of correlation cannot have this value.
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A measure of the strength of the linear relationship between two variables is given
by:
A) Slope
B) Intercept
C) Coeftficient of Correlation
D) Regression Equation

If Y=bX, then intercept a is equal to:
A)0
B) 1
C)-l1to+1
D)0to 1
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Which of the following is the correct null hypothesis for an independent-measures t

test?

Ay -H2=0

B) 1 -

12 70

C)o1-0:=0
D) G -0 70

About a scale (set of questions) it can be said that the indicates how
well the measure taps the concept as theorized. Which word is missing?

A.

Content validity.

B. Construct validity.
.
D. Stability.

Criterion-related validity.
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Which type of analysis involves three or more variables?
1. univariate statistical analysis
ii.  bivariate statistical analysis
1i.  multivariate statistical analysis
A. 1only
B. ii only
C. iii only
D. 1, i1 & iil

Which of the following is a mathematical way in which a set of variables can be
represented with one equation?

A, structuralism
varlate

B
C. ANOVA
D. synergy
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The two basic groups of multivariate techniques are:

A,

B
.
D

dependence methods and interdependence methods

primary methods and secondary methods
simple methods and complex methods

partial methods and complete methods

www.FirstRanker.com

All of the following are examples of dependence methods of analysis EXCEPT:

A

B
.
D

multiple regression analysis
multiple discriminant analysis
cluster analysis

multivariate analysis of variance
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If the analysis contains only one dependent variable and that variable is metric, the
appropriate statistical analysis is:

A. multiple discriminant analysis
B. conjoint analysis
C. multivariate ANOVA

D. multiple regression

Mulitvariate dependence techniques are variants of the , which is a way of
modeling some process based on how different variables cause fluctuations from the
average dependent variable.

A. ordinary linear model (OLM)

B. weighted average model (WAM)
C. general linear model (GLM)

D. metric scaling model (MSM)
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Question Number : 53 Question Id : 899514568 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

‘Which analysis is portrayed by the equation: Y = by + b1X1 + b2X2 + b3X3... +
bnXn?

A. simple regression
B. multiple regression
C. chi-square
D

factor analysis

If the regression equation is: Y = 98.3 +.35X1 + 22.3X2, the predicted value for Y
when X1 =3 and X2=351is:

A. 11845
B. 210.85
C. 67.23
D. 983
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Question Number : 55 Question Id : 899514570 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the formula for the F-test in multiple regression, n - k - 1 stands for:

A. the degrees of freedom of the numerator
B. the number of observations
. the degrees of freedom of the denominator

C
D. the number of independent variables

Jeff is analyzing data and is concerned over how strongly interrelated the
independent variables in his model are. Jeff is concerned about:

A. multicollinearity
B. MANOVA

C. degrees of freedom
D.

convergence
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Question Number : 57 Question Id : 899514572 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the analysis predicts several continuous dependent variables with several
categorical independent variables, the appropriate statistical technique is:

A. multiple regression

B. multiple discriminant analysis
C. conjoint analysis
D.

MANOVA

A researcher has 57 variables in a large dataset and wishes to summarize the
information from them into a reduced set of variables. Which multivariate technique
should be used?

A. factor analysis

B. multidimensional scaling
C. logit analysis
D

. regression analysis
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Question Number : 59 Question Id : 899514574 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In cluster analysis, the researcher wants clusters to have high

within-clusters
and high between-cluster.

A. independence; dependence
B. significance; insignificance
C. heterogeneity; homogeneity
D.

homogeneity; heterogeneity

The probability of rejecting a null hypothesis when it is true is called

A. Level of significance
B. Type Il error

C. TypeIerror

D. Beta
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Question Number : 61 Question Id : 899514576 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

While testing for single population mean when the sample size n is less than 30 and
population standard deviation is unknown

A,z testis used.

B. ttest with n-2 degrees of freedom is used.
C. ttest with n-1 degrees of freedom is used.
D.

t test with n-5 degrees of freedom is used.

Which of the following statements is false?

A. tdistribution 1s symmetrical.

B. zdistribution is symmetrical.

C. tdistribution is flatter than z distribution.
D.

t distribution is applicable only when sample size n is greater than 50.
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Question Number : 63 Question Id : 899514578 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following distribution is useful for small sample while testing for
population means?

A. z distribution
B. F distribution
C. chi-square distribution

D. tdistribution
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When testing for the equality of two means, the hypotheses would take which of

following forms?

A. Ha:ul — uz
Hi:u, # u,
B. H,:0f = o7

Hiial  of
C. Hyi=< 2.0

H :u=>2.0
D. Hy:p,=p,

Hy: py # p2

www.FirstRanker.com
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Testing hypotheses concerning population parameters using sample data is called

A. Exploratory research
B. Descriptive research
C. Descriptive analysis
D. Inferential analysis
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Question Number : 66 Question Id : 899514581 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following could be labeled as a null hypothesis?

A b2
B. pn>25
C pn=25
D. p<25

The degrees of freedom for testing the equality of two population means assuming
equal variance using a t test are

A Ny TN,

B.
C. n, +n,-1
D.
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Question Number : 68 Question Id : 899514583 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
When testing for the proportion of a population, we use

A. ttest

B. F test
C. Z test assuming normal approximation to binominal distribution
D.

Paired sample t test

When we accept the null hypothesis when it is false we, are committing
A. type 1 error

B. type 2 error

C. neither type 1 nor type 2 error

D. Two-tailed test
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The alternative hypothesis is “that more than 80% of the students know driving” 1s
an example of

A. One-tailed test

B. Two-tailed test

C. Type 1 error

D. Type 2 error

The degrees of freedom for the t test to test the hypothesis about paired sample are
A.n
B. 3% s
C. 1y + ny—2

D. n-l
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are the actual items that are measured using a survey questionnaire.

A) Constructs

B) Measured variables or indicators
C) Latent factors

D) Observed factors

A proposed structural model involves four constructs, two of which are exogenous.
X1 and X2 together cause Y1, which in turn causes Y2. What term describes this
model?

A) descriptive
B) empirical

C) nonrecursive
D) recursive
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In Structural Equation Modeling, the posited relationships
between constructs are tested similarly to the way they are tested using:

A) Multiple regression.

B) Analysis of Covariance.
C) Discriminant analysis.
D) Cluster analysis.

Sobel’s test 1s used for

A. Testing the significance of the indirect effect

B. Testing the significance of the direct effect

C. Testing the significance of the moderation effect

D. Testing the significance of the moderated moderation effect
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Increasing moderator further increases the effect of predictor is known as

1. Enhancing effect
1.  Buffering effect

1.  Antagonistic effect

A. ionly

B. i1 only

C. iii only

D. ii & iii

What is the indirect effect value if X to M path coefficient is .4 and M to Y path
coefficient is .35 in a mediation model.

A. 0.001
B. 0.14
€. 035
D. 040
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Question Number : 78 Question Id : 899514593 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Mediation analysis is performed to answers the questions related to:
A. Why
B. When
C. What
D. Whom

The below model is a:

X M Y

A. Simple mediation model
B. Moderation model
C. Moderated mediation model

D. Serial mediation model
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Question Number : 80 Question Id : 899514595 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The below model is a:

W

X M Y

A. Simple mediation model
B. Moderation model
C. Moderated mediation model

D. Serial mediation model
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The below model is a:

X M

A. Simple mediation model
B. Moderation model
C. Moderated mediation model

D. Serial mediation model

To handle the categorical moderator the following analysis is performed
A. Multi-group analysis
B. Sobel’s test
C. Product indicant approach
D. Discriminant analysis
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Question Number : 83 Question Id : 899514598 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
refers to a mediated effect that varies across levels of a moderator

variable.
A. Simple mediation model

B. Moderation model
C. Moderated mediation model

D. Serial mediation model
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Simple indirect effect for the below model is:

a3

bl

a2

A. [by + (a1 + asZ)b;
B. [bo+(as +axZ)by
C. (a; +asZ)b;

D. biemtey
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Index of Moderated Mediation 1s used to test the:
1.  Mediation effect

1.  Moderation effect

1.  Moderated mediation effect

A.ilonly

B. ii only

C. iii only

D. i & iionly

refers to a set of techniques for summarizing and displaying

data.

A. Descriptive Statistics
B. Inferential Statistics
C. Examination Statistics

D. Display Statistics
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Question Number : 87 Question Id : 899514602 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
are used to describe the typical, average and

centre of a distribution of scores.

A. Measures of dispersion
B. Measures of central tendency
C. Measures of analysis

D. Measures of differentiation

are used to describe the degree of spread in a set of

scores.

A. Measures of dispersion
B. Measures of central tendency
C. Measures of analysis

D. Measures of differentiation
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Question Number : 89 Question Id : 899514604 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An is an extreme score that is much higher or lower than the rest
of the scores in the distribution.

A. Average

B. Outlier

C. Onlier

D. Mode

1s the middle score in the sense that half the scores in the distribution
are less than it and half are greater than it.

A, Median

B. Mode
C. Outlier

D. average
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Question Number : 91 Question Id : 899514606 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which aspect of Reliability pertains to the ability of a measurement when employed
repeatedly on the same individuals yielding similar results?

A. Stability
B. Equivalence
C. Maintenance

D. Bias

The question ‘Does the measure employed really measure the theoretical concept?’
is related to:

A. Validity

B. Reliability

C. Cross validation
D. Clarity
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Question Number : 93 Question Id : 899514608 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When researchers measure a construct that they assume to be consistent across time,
the scores they obtain should also be consistent across time. This refers to:

A. Internal Validity
B. Test-Retest Reliability
C. External validity

D. Equivalence

Split-half correlation would help in determining

A. Internal Consistency
B. Inter-rater reliability
C. Coherence

D. Creativity
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Question Number : 95 Question Id : 899514610 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is the extent to which the scores from a measure represent the
variable they are intended to.

A. Reliability

B. Validity
C. Clarity
D. Relativity

is a survey-based statistical technique used in market research that
helps determine how people value different attributes (feature, function, benefits)
that make up an individual product or service

A. Conjoint analysis
B. ANOVA
C. Discriminant Analysis

D. Clustering
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Question Number : 97 Question Id : 899514612 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Conjoint analysis is a
A. Compositional Technique
B. Decompositional Technique
C. aggregation Technique

D. Summation Technique

In conjoint analysis if the respondents evaluate two attributes at a time until all the
possible pairs of attributes have been evaluated, the approach is known as

A. Pairwise approach
B. Full-profile approach
C. Multiple-factor evaluation

D. Single factor evaluation
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8995142452. 4

Question Number : 99 Question Id : 899514614 Question Type : MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In conjoint analysis if full or complete profiles of brands are constructed for all the
attributes, the approach is known as

A. Pairwise approach
B. Full-profile approach
C. Two-factor evaluations

D. Partial approach
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In conjoint analysis designs are designs employed to reduce the number
of paired comparisons
A. Cyclical

B. Fractional factorial designs
C. Rectangular designs
D. Nominal designs
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